DELHI PUBLIC SCHOOL,JAMMU
REVISION SHEET(HALF YEARLY)
SESSION- 2018-19
TOPICS: 1.More about number, 2.Addition, 3.Subtraction, 4.Multiplication
5.Division
Class:lll Subject:Maths

SECTION - A
I Choose the correct option: -
Ql. Oisat place in the number 2057
(a) Ones (b)Tens (c) Hundreds
Q2. Whichis an odd number?
(a)1011 (b)1204 (c) 6028

Q3. T1000 more than ¥3621 is equal to
(a) 74621 (b) ¥5621 (c) T6621

Q4. When 1is subtracted from any number the difference is

(a) Successor (b)Predecessor (c) Minuend
Q5. The product of 1245and O is
(a)o (b)1245 (c)1

Q6. The answer of divisioniscalled

(a) Dividend (b)Quotient (c) Divisor
Q7. The smallest 3-digit number using digits 7,0, 5is

(a) 705 (b)507 (c) 750
Q8. 12x80isequalto

(a) 860 (b)1280 (c) 960
Q9. Theremainder on dividing 2642 by 2 is

(@)1 (b)o (c)2
Q10. 125-___ =0

(a)l (b)125 (c)0
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SECTION - B
Q11. Write greatest and smallest 4-digit numbers using digits 1, 9, 4, 5.
Q12. Add 3594 and 2093.
Q13. Find the difference of 4395 and 8000.
Q14. Multiply 823 by 6.
Q15. Multiply the following:-

(i) 6x30=
(i)  20x50=

Q16. Write multiplication facts for 16 + 8 = 2.
Q17. Divide 8704 by 7.
Q18. Write QandR :-

(i) 7983 +100

Q: , R =
(i) 456+ 10
Q: ’Rz

SECTION - C

Q19. Check whether 3457 number is even or odd by division method.
Q20. The product of two numbers is 335. If one number is 5, find the other.
Q21. Multiply

(i) 97x35 (i) 425x5
Q22. What should be subtracted from 7324 to get 25797
Q23. Add 45 and 32 by counting in tens.
Q24. Arrange in ascending and descending order:-

7512, 7215, 1527, 2751

Q25. Write successor and predecessor of:
(i) 4213 (i) 999
Q26. The weight of 4 boxes is 7948 kg. Find the weight of 1 box.



SECTION-D

Q27. The monthly salary of a person is ¥ 9764. Find his salary of one week if a month has 4
weeks.

Q28. Mr. Amit bought a box full of 125 pencils. There are 32 boxes of pencils. How many
pencils will be there in all?

Q29. From the sum of 1375 and 2340, subtract 1205.
Q30. Complete the following by skip counting

(i)  2420,2430, , ,
(i) 6210, 6310, , ,

Q31. Subtract 6350 from 9064 and check your answer.
Q32. Cost of 9 watches is T 5319. Find the cost of 1 watch.

Q33. 1350 persons went to watch a movie for the first three days of a week. If 425 and
560 persons watched movie for the first two days of a week. Find the number of
persons watching movie on the third day.
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